
のこりはいくつ   

 

   

          

 

 
 

 

 

 

 

 

 

   

 

   

 

 

 

 

なまえ 

 

 

①  ふうせんが ７つ あります。   ３つ とんで いきました。 

バナナが ４ ほん あります。  

こたえ しき 

－ 
ひ く は 

＝ つ 
 

② 

こたえ しき 

－ 
ひ く は 

＝ 
 

ほん 

のこりは いくつでしょう。 

のこりは いくつでしょう。 



のこりはいくつ   

 

   

          

 

 
 

 

 

 

 

 

 

   

 

   

 

 

 

 

 

２ 

こたえ 

 

①  ふうせんが ７つ あります。   ３つ とんで いきました。 

バナナが ４ ほん あります。  

こたえ しき 

－ 
ひ く は 

＝ つ 
 

② 

こたえ しき 

－ 
ひ く は 

＝ 
 

ほん 

のこりは いくつでしょう。 

のこりは いくつでしょう。 

４ ２ 

こたえ 

４ ７ ３ ４ 

２ ２ 


